
Time: 10 Minutes Paper G. Science 7th Total Marks: 10

2nd Month, 4th Week, 2nd Day Syllabus: Unit # 4:  Atom as neutral particle to

atomic structure of first 18 elements + mini exercise

Q.No.1 Encircle the correct answer from the following choices. (0.5×6=3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. The atomic number of silicon is: ttttyyyy»»»»ZZZZNNNN****îîîî����ìììì::::

(a) 16 (b) 24 (c) 28 (d) 32

2. Which of the following is a positively charged particle?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÐÐÐÐ0000****ggggçççç6666,,,,7777iiiiWWWWeeeegggg̀`̀̀ƒƒƒƒ@@@@****ìììì????

(a) Electron Z¼zy (b) Proton 6,zIy (c) Neutron ER,zy (d) Neutrino ER,e

3. From which formula, we can calculate the maximum of number of

electrons in shells? ¾¾¾¾ÃÃÃÃggggññññááááÐÐÐÐëëëëåååå~~~~ZZZZ¼¼¼¼zzzz4444,,,,ÅÅÅÅ®®®®ZZZZŠŠŠŠ¥¥¥¥xxxx™™™™MMMMhhhh÷÷÷÷????

(a) (b) (c) (d)

4. In which shell, there are eighteen electrons?

¾¾¾¾ŸŸŸŸ~~~~ZZZZVVVVgggg{{{{ZZZZ¼¼¼¼zzzz4444,,,,ƒƒƒƒDDDD÷÷÷÷????

(a) K (b) L (c) M (d) N

5. The atomic number of argon is: MMMMggggÍÍÍÍyyyy»»»»ZZZZNNNN****îîîî����ìììì::::

(a) 18 (b) 17 (c) 16 (d) 20

6. The atomic structure of lithium is:
ÉÉÉÉ4444----ŸŸŸŸ----
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GGGG»»»»ZZZZNNNN****îîîî7777ššššìììì::::

(a) (b) (c) (d)

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  An atom is electrical neutral particls. How?

ZVZ¼pER,wfg{ìù?

(ii) Draw diagram of atomic structure of following elements. 
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Q.No.3. What is meant by shalls? Explain K, L, M, N shells. (3)

ååååÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX N,M,L,K ååååÐÐÐÐHHHH%%%%ZZZZŠŠŠŠìììì????
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